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Note : Attempt all three Sections.
SECTION - A
1. Attempt all parts of this Section. Answer in brief. | 5x3=15

(a) What is the Industrial Conflict ?

(b) Explain liberalization and standing order.

(c) Write any four causes of Industrialization.

(d) Mention the role of Labour Court for solving disputes.

(e) What is the Grievance Committee ?

SECTION -B
2. Attempt any three questions of this Section. ; 3x5=15
(@) - Define Industrial Sociology. Discuss its importance in industry today.}
(b) What is the impact of industrialization on caste system ?
(c) Write brief history of industrialization in ancient Indja.

(d) Define Industrial Dispute. What are the various causes of industrial dispute in
India ? :
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SECTION - C
Note : Attempt all questions of this Section.
3.  Attempt any one part : _ 1x5=5

(a) Explain the role of Hawthorne Experiments in the development of Industrial

Sociology.
OR

(b) Explain the nature and scope of Industrial Sociology.

4. Attempt any one part : , : 1x5=5
(a) Explain the registration process of Trade Union Organizations.
OR

(b) What is Feudal System ? Write down the characteristics of Indian Feudal System.

5.  Attempt any one part : 1x5=5

(a) Write short notes on Industrial Policy of 1956 stating major provisions of this

policy.
OR

(b) What do you mean by Navratan PSEs ? Write down at least five names of Indian
Navratan PSEs.

6.  Attempt any one part : 1x5=5§

(a) Describe in brief the provisions of Industrial Employment Standing Orders Act
' 1946.

¥
I

OR

(b) What do you mean by Grievance ? What are various grievance handling
procedures ?
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